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In any A ABC with p, — Spieker cevian, the following relationship holds :
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Proposed by Mohamed Amine Ben Ajiba-Tanger-Morocco

Solution by Soumava Chakraborty-Kolkata-India
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Via (1), (2) and using cosine law on A AFS and A AES, we arrive at :
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Now, [BAX] + [BAX] = [ABC] = Epacsina + EpabsinB =rs
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and in order to prove (mm), it suffices to prove :
(4s® — 4s%a + sa? + a®) — /8

(b—c¢)? < s ,where § =

(4s3 — 4s?a + sa? + a®)? — 4sa*(4s3® — 4s’a + a®) and - (b — ¢)? < a?
- it suffices to prove : 2sa? < (4s3 — 4s%a + sa? + a®)
—/ (4s3 — 4s2a + sa? + a3)? — 4sa?(4s3 — 4s2a + a?)
& /(s — a)2(4s? — a?)? < 4s® — 4s2a — sa® + a3 = (s — a)(4s2 — a?) - true

) 2s(b — ¢)?
= (mm) > (m) is true - pa—WaZZm i
] 2salb—c| s(Bs+a)2s—a)*+s(s—a)(2s+a) )
Again,p, —w, < 1l & @s? — a?)? .(b—c)
4s%a*(b — ¢)?> 4sa.w,.|b—c|
(4s? — a?)? 4s? — a?
s(3s+ a)(2s — a)? + s(s — a)(2s + a)? — 4s%a? 4sa.w,
S b —c| <

(4s% — a?%)? ~ 4s? —a?



ROMANIAN MATHEMATICAL MAGAZINE

8s2(2s+ a)(s — a)

(vb=cl=0) e

, , , 4s2 — g2
- (%‘Sls-; ci)a(zs)z_ 9 .(b—0c)? < a? (s(s —a) —

4s%(s — a)? + a’s(s — a)

.|b—c| <4sa.w,

s(s—a)(b—c)?
(2s — a)? )

.(b—c)? <a’*s(s—a)

(2s — a)?
_ 2 _ 2
s(s a)((::_ a;lzsa ra ).(b -0 <a’s(s—a)
es(s—a).(b-c)?<a’s(s—a) o s(s—a)(a?—(b—c)?) =0 - true
2salb — c| 2s(b — c)? 2salb — c|

—w, <—— and so, < - Wy, < ——
Pa @~ 452 — g2 4s2 — g2 —Pa @~ 452 — q?

Vv A ABC, with equality iff A ABC is equilateral (QED)



